Final Exam; F4360; Fall, 2000; 1:00 Class; page 1 of 3

1.  
a.  How would a compensation system based on EVA provide a stronger incentive for managers to make decisions consistent with the principles of finance than would a system based on net income or earnings per share?

b.  How might such a system begin to break down in a firm with multiple divisions where the riskiness of the assets held by the divisions are very different from each other?

2.   Which ratios would you examine and how would you use them if you wanted to determine whether a firm is not managing their assets efficiently?

3.  Great Depression II Inc. is considering building a new warehouse in Idaho to distribute surplus Y2K survival equipment.  The warehouse would cost $350,000 to build (including all equipment, land, etc) and would have a 20-year life.  Net, after-tax cash flows are expected to equal $45,000 per year beginning two and a half years from today and would remain constant through 19 and a half years from today.  The standard deviation of returns on the returns on the warehouse is expected to be 45% which is higher than the 39% standard deviation of returns on Great Depression II’s existing assets.  Great Depression II’s existing assets have a beta of 0.4 and the average beta of other survival equipment distributors is 0.2.  Great Depression expects the beta of the new warehouse to be even lower at –0.1.  The return on T-bills is 6.2% and the market risk premium is 8.1%.  Should Great Depression II build the warehouse?

4.  Election Purgatory Inc. has assets with a current market value of $100,000.  The standard deviation of returns on these assets is 38% and the beta of these assets is 1.2.  Election is considering expanding its business to take advantage of international opportunities for growth by building a factory in Europe for $150,000.  This factory would have an expected economic life of 20 years.  The new factory would be riskier than existing assets with a standard deviation of 48% and a beta of 1.4.  However, the net present value of the expansion is $20,000 and the correlation between Election’s existing assets and the new factory would only be 0.75.  The expansion would be accomplished by issuing debt which matures for $140,000 five years from today and by issuing equity.  Note that the firm already has outstanding debt which matures five years from today for $110,000 and that the new debt would have the same priority of claim as the existing debt.  The APR (assuming continuous compounding) on Treasury strips are as follows:  1-month:  6.2%; 1-year:  6.1%; 5-years: 5.5%; 20-years:  5.9%; 30-years:  5.4%.  

a.  What will be the standard deviation of returns on the firm’s assets if it builds the new factory?

b.  What will be the value of Election’s stock if it undertakes the investment?

5.  Assume you only invest in T-bills and shares in Disparate Inc.   Disparate has just announced that it intends to break up into 7 different firms.  Assume also that you limit yourself to investing in T-bills and shares of the 7 firms that result from the breakup (though not necessarily the same number of shares in each of the 7 firms that you are issued when the firm breaks up).  Since the 7 firms are in very different lines of business, the expected returns and standard deviations for the 7 firms vary widely and the correlations between the 7 firms will generally be low.  Discuss and show graphically whether you are likely to be better off, worse off, or neither better off nor worse off as a result of the breakup.

6.  Assume that all investors demand a risk-free, after-tax return of 9% per year.  Assume also that investors fall into a range of personal tax rates:  0%, 15%, 28%, 35%, and 40%.  All interest income is taxed at the personal tax rate but equity earnings are untaxed.  Finally, assume that Perplixar Inc. generates $100,000 per year forever in pre-tax income and cash flow and that all corporate income is taxed at a 35% rate.

a.  What is the value of Perplixar if it is 100% equity financed?

b.  Assume that the firm plans to issue bonds that promise to pay $60,000 per year forever to investors in the 15% tax bracket and to use the proceeds to repurchase shares.  What pretax return must Perplixar offer on these bonds?  How will the wealth of current stockholders be affected by this bond issuance and share repurchase?

c.  In equilibrium (according to Miller’s analysis), will the firm be able to sell these bonds as planned? Explain.

7.  Steadfast Inc.’s stock price has just fallen as the result of an announcement by Steadfast that it is suspending its regular quarterly dividend.  Based on our discussion in class, explain this reaction to the announcement.

8.  Anarchy Inc. has just announced that it intends to issue additional debt and use the proceeds to repurchase stock.  At the announcement, Anarchy’s stock price rose.  Given our discussion in class, explain this reaction.
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Solutions:

1. a.  Incentives based on net income or earnings per share give management an incentive to violate the principle of time value of money since net income recognizes revenues when the earnings process is virtually complete rather than collected and expenses are matched to revenues rather recognizing when paid.

=> EVA makes consistent with cash flow and time value of money by charging interest on any shifting of costs/revenues between periods.

b.  If divisions have different risks, then should have a cost of capital for each division.  If use one cost of capital for the entire firm, then high risk divisions will overinvest and low risk divisions will underinvest.

2.  
1) Total asset turnover 

evidence that efficiently managing assets if

1) above industry average or leader

2)  rising over time (compared to self)

Note:  Too high could indicate that working assets too hard

2)  Inventory turnover (or Days in inventory…criteria discussed below is reversed for Days in inventory)

evidence that efficiently managing assets if

1) above industry average or leader

2)  rising over time (compared to self)

Note:  Too high could indicate that risking stockouts

3)  Average collection period (or Receivables turnover…criteria revered for Receivables turnover).

evidence that efficiently managing assets if

1) below industry average or leader

2)  falling over time (compared to self)

3)  ACP not more than 10 days longer than credit terms

Note:  Too low could indicate that credit terms are too tight and risking lost sales

Note:  a low and falling current and quick ratio provides some evidence that managing assets efficiently.

3.  r = 6.2 + (-.1)(8.1) = 5.39
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NPV = 471,716.94 - 350,000 = 121,716.94

=> accept since NPV > 0

4.  
a.  
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  => A = 41.83

b.  
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5.  Description of graph:  After the breakup, there are 7 firms which serve anchors for the feasible set.  Disparate should be a point within this feasible set since the combined firm is one possible combination of the 7 firms.  Line 1 goes through the risk-free rate and Dispirate.  Line 2 extends from the risk-free rate to the point of tangency on the feasible set (formed by the 7 firms).  The point of tangency is point P0.  Line 1 will in all likelihood be lower than line 2.  The two lines might be the same if the merged firm Dispirate contained the 7 firms in the same proportions as the point of tangency.

Discussion:  If limited to to Dispirate and T-bills, I can achieve line 1.

If the firm splits up, I can achieve any point in the shaded area (feasible set) by combining the 7 firms into a portfolio.  However, I can achieve line 2 by combining the 7 into optimal portfolio P0 then investing in T-bills

Note:  If only invest in T-bills (no borrowing), then can only achieve points between rf and P0 or rf and D.

=> only if D is at P0 am I indifferent.  Otherwise I am better off after the split-up since I can achieve a higher return for any level of risk I accept.

6.
a.  
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b.  Value of bonds
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Pretax return 
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Value of stock
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Change in wealth = (288,888.89 + 566,666.66) - 722,222.22 = +133,333.33

c.  No, in equilibrium, bonds must be issued to investors in the 35% tax bracket at a rate of 
[image: image12.wmf]13846

.

35

.

1

09

.

=

-


7.  The dividend cut reveals management's pessimism about future earnings.

=> stock price falls as the market revises expectations downwards

=> Also, stockholders gain at the expense of bondholders when a dividend is paid.  This no longer happens if the firm suspends the dividend

=> And, stockholders may fear that management will waste the cash or that management will come under less scrutiny as the chance that the firm will need to issue securities in the future declines.

8.  The market must believe that Anarchy currently has less debt than optimal.

=> the benefit of additional debt must exceed the cost of additional debt

Market may believe that:

1) Anarchy has a high probability of using the corporate tax shield from debt sue to high, stable profits

2)  the debt will help resolve stockholder/manager conflict by:

=> taking discretionary cash out of management's hands so won't waste it

=> allowing for concentration of ownership in management's hands

=> keeping management's feet to the fire as work to meet debt service

3) Anarchy has low costs associated with increasing debt due to distress costs like:

=> bankruptcy costs like legal fees, court costs, reorganization costs, administrative costs

=> indirect costs due to impaired ability to run the firm

=> loss of key employees, lost sales, higher credit costs, loss of supplier credit

=> diversion of management as try to keep firm solvent

=> costs imposed by bondholders due to stockholder/bondholder conflict

4)  The increase in debt benefits stockholders at the expense of existing bondholders
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